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Economics
Paper 11

eI
gyuterent 11

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

TOAT : I YEAUhG THU WiER (100) SgHAE WA foonl oTRd. Toe RN | (2)
O STRd. WE WA e

1. As per Pollution Haven Hypothesis,

1. gV go IRReTITHR SgUserd =

Multinational Companies that
choose to physically invest in foreign
countries, tend to (re)locate to the e FAE W .

countries with ...........co.c...... .

A) T AfeeR IqereHd
(A) Greater availability of the £y

labour

(B) Haid A YIS HHeE fohal Tam

(B) The lowest environmental

HHRAd FHASTSET

standards or weakest enforcement

(C) The highest environmental (C) Helteg gAfeuig Heh Tohean Halq

standards or the most strict

FHOR STHCASSITI N
enforcement

(D) Lower availability of the labour (D) FSIET HHT IS

3 [P.T.O.
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Environmental Economics involves

question of ...................

(A) Excessive production of

pollution by the market

(B) Insufficient protection of
natural world, due to market

failure
(C) Both of the above
(D) Only (A) is true

.................... method puts direct
question to individuals to determine
how much they might willing to pay

for environmental resources.

(A) Contingent valuation method
(B) Travel cost method

(C) Hedonic pricing method

(D) Preventive expenditure

method

How does the government intervene
in the supply and demand of

demerit goods ?
(A) By giving tax rebate

(B) By applying the sales tax on
the goods

(C) By increasing production

(D) By increasing consumption
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Google Play
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THEY B

(A) SSTER YEOUM STAfeeh  ScdeH

(B) FNIRIE STHARIHe SHfiteh S
ST T
(C) =i Sl

(D) ®H (A) I 8

.....................

Tgd ST 92 39 fo=ma
1 J TR GHEEE! fhdt T ST
Togeh  3aa.

(A) 3TeRfETen FeATh
(B) v ¥ T
(C) w=iftw famd

(D) wfqeurcHes @«

ST SR HITOT A0 qRESar e TR
FAWFR TEAGT Fd 2

(A) R HIed T3
(B) SER FX STHTEA
(C) Scure dregd
(D) SUHAT ST
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As part of National Climate Change
Policy, Indian government is
planning to raise the installed
capacity of renewable energy by the

year 2030 to :

(A) 175 GW

(B) 200 GW

(C) 250 GW

(D) 350 GW

Significant factor pointing for

demographic dividend is ................

(A) Low dependency ratio

(B) High dependency ratio

(C) Medium dependency ratio

(D) High and medium dependency

ratio

GET IT ON
Google Play
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ST oA Seel UMl W WA,

G TR 2030 TId 3181 Seidl

A e 37
(A) 175 GW
(B) 200 GW
(C) 250 GW

(D) 350 GW

o oo -

SHUIR fefgesardl Hiad I

(A) FH STadfsa FHIOT

(B) 5= ITacfsicd FHIO

(C) Ty Toefac Y

(D) F=a AT HLAH Iecfod O

[P.T.O.
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Consider the following specific
stages of demographic transition

associated with economic
development (2012) :

(1) Low birth rate with low death

rate

(2) High birth rate with high death

rate

(3) High birth rate with low death

rate

Select the correct order of the above

stages using the codes given below :
A @), 2), 3)
(B) (2), (1), (3)
(C) (@), 3), (1)
D) (3), (2), (1)

Which of the following is not the
mission under NAPCC ?

(A) National Solar Mission

(B) National Mission for Enhanced
Energy Efficiency

(C) National Mission on Air

(D) National Water Mission

GET IT ON
Google Play
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e fasmmaeft (2012) wefea

AR ORI S HehHuT= @ieitel fafyme

ToE] fa=amr w0

(1) =Hl SHeC S0 HHl Jog ST

(2) J=d g TUUe Sod el

(3) H Tg TUUT I=d ST

el foded sledl 9 w%d 9
ToE AT %A eer

A) (D), (2), 3)
(B) (2), (1), 3)
(€ (2), (3), (1)

D) 3), (2), (1)

e TeTdeh! RIS NAPCC 3dTd
I AR ?

(A) TGRSR

(B) affra o T ermadrEt T
aAfyE

(C) UEF Bl AN

D) T=EE S A=
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Only in ............. state sex ratio was

favourable in 2011, there were 1084

females per 1000 males.

(A) Bihar

(B) Punjab

(C) Haryana

(D) Kerala

Harris Todaro model describes the

interrelationship between .............. .

(A) Growth and migration

(B) Unemployment and inflation

(C) Growth and unemployment

(D) Unemployment and migration

10.
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2011 AL Ted

O ST e &, Ffd 1000 TESTHRT

1084 wfgen e
(A) ToER

(B) TSE

(C) sfE=mm

D) 3B
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11. Match the following :

o))
)
3)
4)

@)

(€2)

(@i0)

(v)

(A)

(B)

()

(D)

Types of Goods
Public Goods
Club Goods
Common Resources
Private Goods
Attributes

Excludability and Rival

Consumption

Excludability and Non-Rival

Consumption

Non-Excludability and Non-

Rival Consumption

Non-Excludability and Rival

Consumption

o @ G @
@ @) @ Go)
@ Gi) o) G)
Gi) G) @) G)
@) G G Gi)
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11. Sred e
TEET YRR
(1) wESIfE a5

(2) FE TH

(3) wWrfesw HETEA
(4) @IS 9%
TruTerH
() afoaa efor wfaege sgfe
Gi) afsaa enfor wfaeqeifaife saedim
(i2) sTarfSraan smfon wfqeifafea sawm
Gv) sraferaar snfor wfaeaef e
o @2 Q) @
A @ @) @  (@Gv)
B @ G@) G @)
©) @) @ G O

D) @ @ @ @)
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12. Match the following :

(1)

(2)

3)

l

(i)

(ii2)

(A)

(B)

(®)

(D)

Principles
Equal Absolute Sacrifice
Equal Proportional Sacrifice
Equal Marginal Sacrifice

Formulas

dU(Y-T)
d(Y-T)

UY) — U(Y — T) same for all

same for all

UyY)-Uy-m
uy)

same for all

L 2 @)

@) @ @

@ @ )

@) @O @)

@) G @)

12. Sredl Jeedl
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T

(1) A fug =

(2) IUH WHRI I

(3) THHWK =M
kol
. dU(Y-T)
O Tx-T) HeTErel qHA

@) UXY) — UY - T) gaige g9=

(273)

(A) G @)

B) @)

(C) @)

D) @) @GiD)

UY)-U(Y-T) .

TS gHH

UY)

3)

@

(273)

(i)

@

[P.T.O.
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13. According to recommendation of the
15th Finance Commission, various
criteria and their weightages are
suggested for horizontal devolution
amongst states. Match the following
criteria and weightages according
to it :

Criteria
(1) Population and Area (each)
(2) Forest and Ecology
(3) Income distance
(4) Tax and fiscal efforts
(5) Demographic performance
Weightages
@ 45%
@) 2.5%
(@) 12.5%

@v) 15%
) 10%

L @ & @ 6
A @ @ @ @ G
B @ @O O @ @)
© @ @ O @@ O
O @ O G) G) 6@
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13. deRmeAn fom emanm=an RreReiTEn,

TS G/ ATSed SEaTaquTdTo!

fafay frere @< Y gaauar aferal

3Med. INIER Jeid e i ARieh

e e ool

e
(1) RTeEn s Jueer (W)
(2) 94 aqfor qHreR

(3) IO K

(4) HT =AM ToHEE TITA

(B

(5) TAHTEATITEIE HHEAR

I
@) 45%
@) 2.5%
(zi1) 12.5%
(v) 15%
) 10%

o @ & @ 6

A @ O G@ O (ii1)
B) () © O @ >
© @) @ O @ (O
O @ O @ @ G

10
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14. According to the budget estimates | 14. H3 3T8HHeT 2023-24 = NFHHTUH
of union budget 2023-24, the fiscal FeeER, foxi= asf 2023-24 =
deficit for the financial year NSEICIE qE e SIMTAd  Sa=T=A
2023-24 is estimated to be ............. | e i 3R
of GDP.

(A) 6.9%
(A) 6.9%

(B) 6.5%
(B) 6.5%

(C) 5.5%
(C) 5.5%

D) 5.9%
D) 5.9%

15. According to Wiseman-Peacock | 19- AesTH - feh e THATTHR foreera 9o
hypothesis, what is Displacement = w2
Effect ?

(A) The movement of public (A) TR HAhET IR HEE!
expenditure from unproductive e e
to productive level
(B) Change in the source of public (B) WIS SeI=real e Fom
revenue E el
(C) Change in the structure of
public debt (C) HEsieh eir=a W&ha aed
(D) The movement of public &
(D) S TEqH Tidesas T ST
expenditure from old lower level
to new hlgher level L||('|<.7t3\|<=|')g Hlolo\TIF'IQh @tﬁﬂ _&:TUT@W
11 [P.T.O.
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17.

18.

e

Integration of discretion and
automation into a hybrid form of

fiscal policy is called :
(A) Built in flexibility
(B) Formula flexibility
(C) Expansionary policy
(D) Contractionary policy

The zero base budgeting was first

adopted in :
(A) India
(B) Germany
(C) USA

(D) France

Which of the following is likely to
be the most inflationary in its

effects ?
(A) Repayment of public debt
(B) Repayment of internal debt

(C) Printing new currency to

finance the deficit

(D) Borrowing from the banks

17.

18.

GET IT ON
Google Play
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(B) IHR TAef<ehdl

(C) fo=arrgs faiia gro
(D) Hepad GR

IENLIRG  AHHeur=] SAAATSA0N
TEAYYIY IO TG el el 2

(A) Y9ra
(B) ST
(C) smafiehT

D) ®rH

TTEATTd®T HBeAT FehTa T

MRS SR WHIUIER B 2

(A) TrESIeh SHelrE WAhs

(B) 3Id7d ol TWAheS

(C) Toxila g2 w&A FeuarErd! 7d e
BTI00

(D) SRS FS HU

12
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19. The idea of ‘democratic | 19. ‘Tihemel oo’ & Tehed=T ARAT=N
decentralization’ in India was Heylq S0 YERE SR ?
popularized by :

(A) Wl TiReren HiHdl, 1951
(A) A.D. Gorwala Committee, 1951

(B) ®l.3MR. Heal |iHdl, 1957
(B) B.R. Mehta Committee, 1957
(C) Ashok Mehta Committee, 1978 (C) SR Hedl Wi, 1978
(D) Kelkar Committee, 2004 (D) e Hiwl, 2004

20. Which of the following taxes is most | 20. YEIciush! IVl Y BT Afe Uit
likely to be regressive ? e ?

(A) Tax on inherited property (A) IRERFRM fHeseied Huxiaia Y
(B) Tax on income earned (B) TohSaIfoN Seq=TaRIT] Y

(C) Corporate income tax (C) Frm =R

(D) Goods and Services Tax (GST) (D) =% 9 el T

21. Who among the following advocated | 21. wrefiari=st 1o SO H9T
and active fiscal policy to reduce FIOIEESA] Gfehd TSThISTE E0T=
unemployment ? TEHR el ?

(A) The classical (A) TR
(B) The Keynesian (B) HawE!
(C) Both classical and Keynesian (C) T HARAE 9 FHHawK]
(D) Monetarist (D) EEE!
13 [P.T.O.
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22. Theory of Money Supply makes | 22. 9men [agaren H fagiamed femn

money supply a function of .......... . RS T = Thel 3.
() High-powered Money (H) () <=a YER T (H)
(ii) Currency in Circulation (i) =eHE T

(iii) Credit Money (iii) g
(iv) Currency Deposit Ratio (c) (iv) =& o9 IR (c)
() Time Deposit Ratio (t) (v) H&d 39 IR (t)

(i) Reserve Deposit Ratio (r) (vi) TEd 39 TR (r)
(A) (@), (i) and (iii) (A) (), (i) 3 (iid)

(B) @), (ifi), (iv) and (vi) (B) @), (id), (i) M (vi)
€ @, Gv) (v) (C) @), Gv) ()

D) @), Gv), (v) and (vi) D) @), Gv), (v) A (i)

23. According to Okun’s law, 1 extra | 23. 3fT=1 f72H o/ gfauifed Ll i, TH
point of unemployment costs ......... SAfarfert SRrsmrn foig &1 k&S
percent of GDP. PG I (GDP) T -

(A) 2% (A) 2 TFh
(B) 6% (B) 6 =&
(C) 1% (C) 1 =Fn
(D) 3% (D) 3 =&

14
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24. Match the following :
(@)
b)

Increase in Bank Rate

of Government

Securities by the Central Bank

Purchase

(¢) Reduction in CRR
(d)

@

SLR

Can be used as a qualitative

measure
(z1) Increases the cost of credit
((27)
(i)

Induces more credit creation

Increases the availability of

money supply with the

commercial banks

(@ ) (© (@
A @ @ @ @)
B) @ @) GG G
(C) @) Gv) @) @)
D) G @) Gv) @

25. Principles of Supply-side Economics

focus on .....cceeuueeennns .

(A) Shifting AS curve to the right
(B) Shifting AD curve to the right
(C) Shifting AS curve to the left
(D) Shifting AD curve to the left

GET IT ON
Google Play

APR - 11224/TT—A

24, Wdld Sredl Sl

25.

(@) &% A 9@

(b) TEHT dehgl THN UEA=T TiE)
() U@ e TUlicRd U
(d) dunen IEar g

() TOMHE IUE WIH SOl Ad!

(i) gauemT=Al feRuda e

(iii) ifass gafafaer en

(jv) AR dRiReld Y= SqA
led

(@ b)) © @
A @ @ @ @)
B) @ @) GG G
(C) @) @Gv) @) @)
D) @) @ Gv) @

qRAGHATAT A=A AU

R W <ard.

oo

(A) AS TF SRS TR0

oS

(B) AD T% ISAIhe TIhIa0

(C) AS T EEihe T{hiau

oSN

(D) AD 9% TIdishe TIehioOl

15

[P.T.O.
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26.

27.

The Baumol’s theory of transaction
demand for money is definitely an
improvement over the Keynesian

theory which states that ...........

(A) The transaction demand for

money is interest elastic

(B)

The transaction of demand for

money is interest inelastic

(C) The transaction of demand for

money is income inelastic
(D) The transaction of demand for

money is income and interest

elastic

Expansionary Monetary Policy ......
income level with

equilibrium rate of interest.
(A) increases, fall

(B) decreases, fall

(C) increases, increase

(D) decreases, increase

GET IT ON
Google Play
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26. ASHCE eTET SHAER TqE AT

~

fagia & Ffyeae = fagaeds

FUROT T S S i T v

....................

(A) TR FEER FqEeET At §
=N edrash TEd

(B) mmel =ERR BEeE AR €l

S A=k 3T

(C) mmeh =ERR BEEE AR €l

crers s e o1 collice pe |

(D) YeT=H =FFER FgEe=t AN €
A AN AT AR 3T

(B) &4t B, 9O & Bl
(C) dmed, 991 el

D) HHt BId, M=l

16
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28. As per Output Method of measuring | 28. TS 3T HSUIAT= IUGH TSATIHT,
National Income, value of output g SHTUEEESY IeUifed Seied
produced by each firm equals ...... . - 3 T 3o .

(A) Total Sales .
(B) Total Wages (A) Bl Taleel
(C) Total Sales + Change in (B) THYT oI
Inventories (C) oY forsht + SRRETSHel Sgeisash
(D) Total Inventories + Total
Inputs (D) W SRGEIET + TR
2. (P,t)x(Q;,0

0. SO 0 iy e | T
formula of ........ccceeeenns . BERCIES
(A) Paasche Price Index (A) TR fored frdwen
(B) Laspeyre’s Price Index (B) WW [GEEREIED
(C) Consumer Price Index (C) wyefrr fohra ffemren
(D) GDP Deflator (D) TS IIMETT IR Tehia

30. A balanced combination of safe and | 3. Rfara S SIEHT= JeTiad H‘gi}qq
risky assets relates to ................ . G & Feweqar = s
(A) Keynes Liquidity Preference TR,

The.or’y . (A) &1 JEar TEar s
® IT)‘;ZI; de‘;ff"Ml:‘;e‘;‘ppmaCh 0 (B) Aferen S it e
(C) Baumol’s Inventory Theoretic Ll
Approach (C) aMSHCT TEgETel Jgif<deh gfteh
(D) Friedman’s Asset Demand for (D) firen=T UST=a1 ANTU=T AICTHR
Money ek
17 [P.T.O.
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31.

32.

33.

e

If consumption function is given by
C =200 + 0.75 Y, then the value

of multiplier will be

(A) 3
(B) 4
(C) 5
D) 6
If all the elements in a set X are

in a set Y, but all the elements of

Y are not in X, then X is :

(A) Union set

(B) Power set

(C) Proper subset

(D) Empty set

If y is a function of x, find the

mathematical form from its inverse

function :

A y = flv)
B) y = f @
© x = 4y
D) x = fly)

31.

32.

33.

GET IT ON
Google Play

APR - 11224/T1—A

99T weT C = 200 + 0.75Y feor

STEAH, TS g
A) 3
B) 4
(C) 5
D) 6

X H9 X #dia ¥d weh "9 Y "
A, WY ¥9 Y o ¥8 "wed 949 X
L o, W WG X € AR

(A) g o=

(B) dferR @9

(C) W §=

(D) T §4

Sy ® x o Hhod T, T A=A A5

HeMrd TUE ®9 HEl

A y = flv)
B) y = flw
© x = Xy
D) x = fiy)

18
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34. Suppose the function you want to | 34. TRl HewH & Ifood THAA Held
maximise is given as n(q) = %q2 -90qg +300 feoiadd =18,
1
(@) =-q*>-90q9 +300, Obtain q .
2 n(g) WETH A g el
that maximises n(q).
(A) 90
(A) 90
(B) 390
(B) 390
(C) 300
(C) 300
(D) 210 (D) 210
- 1
35. Suppose demand for the oranges is 35. WHST wWATH WM g =9 _Ep Rl
1 FEAER e |
given by the function ¢ = 9—5 p. feeft sme. ok q'(p)
Find the differential coefficient ¢'(p). .
1
1 =
@ -5 (&) =3
1
1 =
(B) 5 (B) 9
C) 4 ) 4
D) 9 D) 9
19 [P.T.O.
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36.

37.

247

7 2 3
Suppose matrix A = |4 8 1
5 12

is multiplied by the identity matrix.
What you will get ?

7 2 3
@ |+ 8 1
5 12 4
S o
(B) 0 1 0
0 0 O]
© |2 90
0 0 0
7 4 5
(D) 2 8 12
3 1 4

Which one of the following is not the

test of adequacy of index number ?
(A) Time Reversal Test

(B) Factor Reversal Test

(C) Circular Test

(D) Bowley Test

36.

37.

GET IT ON
Google Play

APR - 11224/T1—A

7 2 3
ST WU A = |4 8 1@
5 12 4

Hferheh RO TUTd. qReTell =hra
e ?

7 2
@ |+ 81
5 12 4
o o
I
_O 1_
0 0 0]
© |0 00
0 0 0
7 4 5
o |2 8 12
3 1 4
WTATAUeh! IOl e STeRT=a Tawa=
=0T A’ ?

(A) HT Fhd AT

(B) W2 @HH A=
(C) =fswa ==l
(D) wreret =Tl

20
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38. Which of the following is true in case | 38. WfHdd HIEAT=AT ST eI HI0T

of geometric mean ? faum e 3e ?

(Z) It is used to find the average .
8 (@) =1 9 fawl, 3= safe Agd

T 9faed oe SevamEst 2l

percent increase in sales,
production etc.

(i1) Used in construction of index (i) TGS TIR FITAIE! SO Sl

numbers

(fii) SegT TIeAl HLhrell 3Tferek  SATToT

(zit) Most suitable when large

i HeHhIel HH AN AR
Al deel Afue SUFE STEl

weights have to be given to

small item and small weights to

large items (A) Ha (i) TR e

(A) Only (@) is true B) Fa® () & (i) o

(B) Only (i) and (ii) are true
(C) (i), (i) 3o (i) = 3Ted
(C) (@), (i) and (iii) are false

(D) (i), (i) and (iii) are true D) (), (@) Ao (i) s e
39. The empirical relationship between | 39. TfUria wrea, Hearm T sgere ATl
mean, median and mode can be ATHES Y TCAWHTI S
expressed as follows : Idl
(A) Mode = 3 Median — 2 Mean (A) FEETH = 3 HEAM — 2 A
(B) Mode = 2 Median — 3 Mean (B) Sg@+ = 2 HeTM — 3 A
(C) Mode = 3 Median — 3 Mean (C) dgdsh = 3 HLAM — 3 HIEA
(D) Mode = 6 Median — 5 Mean (D) 9 = 6 M — 5 AH

21 [P.T.O.
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40. If three dice are thrown once, then
there will be how many exhaustive

number of cases ?
(A) 18
(B) 108
(C) 216
D) 72

41. Which of the following is not a non-

parametric sampling ?

(A) Judgmental sampling
(B) Convenience sampling
(C) Stratified sampling
(D) Quota sampling

42. Which of the following is not used

to test the stationarity ?

(A) Dickey-Fuller Test

(B) Autocorrelation Function Test
(C) Engle-Granger Test

(D) Phillips-Perron Test

GET IT ON
Google Play

APR - 11224/T1—A

40. SR B THeHE Hhehal, T a9 THm

41.

42.

uftget R fedt T 2
(A) 18
(B) 108
(C) 216

D) 72

ECATAUsht IV TRETea T fee

Igdl Al ?

(A) frofareas g frae

(B) HrEER T fere

(C) wfen 797 fere

(D) e T FEe

feera= ==l SoAmEET T terdeT

UM a9 Shell S A8l 7

o~ N

(A) femi-|er =m=f

(B) & WY oA =T=Eul
(C) USA-I=R ==
(D) TRfam-wT ==

22
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43. For which of the following the 2SLS | 43. TeAedeh! ShIvEES! 2SLS TSHd Halld
method is most appropriate method AT 3N UGHT TR 7
f estimation ? o
oF estimation (A) ¥Teq IR FHIRL
(A) Under Identified Equation S .
B) ddrad HATd HHTh U]
(B) Exactly Identified Equation (B) T
(C) Exactly Unidentified Equation (C) T SRR FHiHT
(D) Over Identified Equation (D) srfazrfygEe TH=Rm
44. Which of the formula is used for | 44. TH™T WgHS IO ATUFAT
testing significance of the sample TAMUITES! @TeTleTdehl  ShIoTceH SEIEI
5 2
correlation coefficient ? AR el il o
r\/; -2
rn -2 (A) t=—0——=
t = _ 2
(A) N Vi-r
Y (B) t=Tyn*r2
t = - _ 2
(B) 2 _r2 J2 -7
© ¢~ © t:rjiz__f
V172 1
rn+2 Dy t=1yn*2
t = B 2
D) ﬁ e \/I +r
45. IfY is dependent and X, and X are 45. SR Y ® 9 S Xo @ X3 GRS E
independent variables, then rq, 5 =] 3T o r19.3 T @Teltel = HiSTHY
measures the following : = .
(A) Correlation between Y and X,
(B) Correlation between X, and Xg (&) Y s X9 REIGRSEEEE
(C) Partial Correlation between Y B) X, aTfoT Xs el gggay
and X; (C) Y s X wefier =Aiferes wewas
(D) Partial Correlation between Y _ ‘
and X, (D) Y anfor X, Aefier Afeeh GeHas
23 [P.T.O.
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47.

e

According to Ronald Coase, why do

firms exist ?

(A) They exist to specialize in

production

(B) They exist to make division of

labour feasible

(C) They exist to diversity the

production

(D) They exist to economize on
transaction costs

Why is the production possibility

curve concave ?

(A) There is a difference in the cost

of production of the two goods

(B) There is a difference in the price

of the two goods

(C) There is a difference in the

income of the two consumers

(D) Resources are not completely
adaptable to alternative uses
because of the specificity of the

resources

46.

47.

GET IT ON
Google Play

APR - 11224/T1—A

(Fles hig 9= Hd, SUTTEET

IR A9dE ?

(A) =N IR ToaRIsiehiol SHIvamEs!

ST 3T

(B) &1 HHTIYTSH 99 HIvgTHIa]

ST 3T

(C) =N 3R Tafafaetor oI

T ST

(D) ™ FIER T fRAE TEvIEst

ST 8T

ScqTG YTERIAT 95k STaaghTshT AT 3194l 7

(A) TH o= 3URT EEHE] T

T

(B) T o= fhAdived wien o1l

(C) TN SYYFRIT=A ST Bk 3194l

(D) FETEATEA AT HEER
T SOUAEE YUl esed

HTIERT T9dd

24
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48. Why does the marginal rate of
substitution of one good for another
diminish ?

(z) Satiability for a particular good

(71) Goods are imperfect substitutes

of each other

(ziz) The income of the consumer is

fixed
(zv) Diminishing marginal utility of
goods
(A) Only (i)
(B) Only (@), (i) and (i)
(C) Only (@), (i7) and (Gv)

(D) Only (i), (i) and (v)

48.

GET IT ON
Google Play

APR - 11224/TT—A

Teh! e Q-1 SRl ST |
A S 1 el ?

G) faferse awg=h wwremQd

(i) o WEE YU e S
(i) SUEaS 3o XX eTEd
(iv) ST Hed HHG ST

(A) &H (iii)

(B) I (), (1) 20T (Gii)

(C) = (i), (i) O (iv)

(D) e (D), (id2) @A (iv)

49. TIn case of Giffen goods, the negative | 49. FTH S&=an Frerclid, 01 Scq=1 qRoTH
income effect is ............... the walaar giomEp e 3Tl
substitution effect.

(A) &1 9HH
(A) equal to
(B) T SR«
(B) greater than
(C) lower than (C) Hem =i
(D) the same as (D) IrRETH
25 [P.T.O.
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50.

51.

52.

e

If one person can be made better off

without making any other person

worse off, it is called ............... .

(A) Maximum social welfare

(B) Pareto efficiency

(C) Pareto improvement

(D) Interpersonal comparison of
utility

What is meant by economic cost ?

(A) Opportunity cost of the self-

owned factors

(B) Accounting cost + Opportunity

cost of the self-owned factors

©)

(D)

Which of the following statements

is/are true about the Kaldor-Hicks

Explicit cost

Minimization of cost

criterion ?
(z) Hicks has given his criterion
from the losers’ point of view
(z1) Kaldor has given his criterion
from the gainers’ point of view
(A)
(B)
©)

D)

Only (i) is true
Only (i) is true
Both () and (ii) are true

Neither (i) nor (ii) is true

50.

51.

52.

GET IT ON
Google Play

APR - 11224/T1—A

SR IS SR FHIEMG 5 7 Tl
Tehl =1 GHIYMEG d1¢ g<adl ad
............ 3@ 'I%'U]?ﬂﬁ'.

(A) HETH HHISEh Shed]
(B) W2 wHTIdl/ T e
(C) W= gUrRwm

(D) STATAr SR gorl

aTforsr e WUN 1T 7

(A) THIAR AT IR HSh=T HeiE=

(B) i@iferd e sisfad wd +
T A1 ScdIG SEehTen Heter

(C) e @

(D) fram =

Eeeis! Ho faam wieer-fead

Fentisigeal X AR ?

() oo @ ey g serear=A
iR feen o

(i) hiceld ST9e TR arareai=n

SfedHrT feen o
(A) =ees (i) T TR
(B) hela (ii) B
(C) (i) 2mfu (ii) S8l B 3ed
D) () fpa (i) e B AR
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53. Assume that there are two firms in | 93. FHSI 33@" d A ﬁ%\?ﬂ AR afEe
the industry. Firm I have to choose foeret o= YOI e S 31
among five strategies and Firm II amfor Hd U Rl WA AU deh]
can react by adopting any one of six SIUTTal Ueh T ehTE Gidishal G ITehd.
open strategies. Similarly, both TIHT, Sl Jediehe Wid TOHTT 3Ted.
firms have counter strategies. Thus, STIMTRR, SIa! TGS Lo fehat oo
find how many total payoffs will be SUTT BRA 7 9 e
available for both the firms.

(A) 6
(A) 6

B) 11
(B) 11

C) 22
©) 22 ©
M) 30 (D) 30

54. In what situation, profit maximises : | 54. IV URIEAATS AR ATEhaq Bl ?

(A) When the difference between N TR T arfor TR
total revenue and total cost is
TEMAYE Bl Tl STl
highest
(B) When the difference between (B) =gl TR aret srfor TR
total revenue and total cost is T ik Tdid HHT A9l
lowest .
(C) =81 TRVl Il TeRUT feheiaer sl
(C) When total revenue is less than
9l
total cost
(D) When total revenue and total (D) STogT TH7T ATl AT T E e 9
cost curve both are the same ol U STHdE
27 [P.T.O.
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55. Which of the following is shown by
the Grand Utility Possibility
Frontier ?

Select the correct answer from the

codes given below :

(@) The distribution of welfare
between individuals

(z1)) The Pareto-efficient outputs of
two products

(i1i) Pareto-efficient allocation of
factors into two products

(v) The Pareto-efficient outputs of
more than two products

(A) @), (@) and (v)

(B) (i) and (ii) only

(C) (ii) and (iii) only

D) @), (i) and (@i7)
56. What is the reason to used
stockpilling policy by entrepreneur ?
(A) To decrease the cost of
production

(B) To increase the cost of
production

(C) To increase the consumer

surplus

(D)

To increase the taxation

55.

56.

GET IT ON
Google Play

APR - 11224/T1—A

ETATTUhT hIUTd W IUAINT STeRl

AT geifaed Sid 2

ETelt foeiean ShIeayd arg W Hael ¢
() HHIHE HeAT™ TR
(i) TN IRE NE-HEEH IR

(iii) SH IARAHES TR Wl-HEeH
arey

(iv) BUE S G Wel-HHam
ERtiEg]

(A) @), (D) 3T (iv)

B) (@) =0 (i) Seres

(C) (i) 3Mfw (iii) hees

D) @), (@) Ao (i)

SATSTehigI |Gl Shivars HR0l ST

HTE HIO 3ME 7

(A) SRR =99 HH HLTAES!
(B) 3cUEH =9 dleguI st
(C) TTEshT™ TaIoTferm arefauaren iar

(D) =T TRl
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58.

59.

247

.............. refers to the action taken by

central bank of the country to cancel

the impact of its foreign exchange

market intervention on money

supply.

(A) Sterilization

(B) Capital outflow

(C) Acceleration

(D) Multiplier

The basket of goods included in the

GDP deflator includes ..................

(A) Only Domestically Produced
Goods

(B) Domestic Goods as well as
imported goods

(C) Only capital goods

(D) Only Consumer Goods

For narrow measure of money, which

of the following options is

incorrect ?
(A) Note in circulation

(B) Deposits of institution such as
UTI, IDBI, IFCI

(C) Cash reserves on hands with all
banks

(D) Deposits held by a bank in other
banks

58.

59.

GET IT ON
Google Play

APR - 11224/TT—A

"""""""" OS] <YMl OISl S
I YLh T I ATl s&darar=l

TET [ESIERE Y9E /e HLOAME!
Sholed] hEaEdl ded .

(A) gHEarTd

(B) wigaw wfgais
(C) wa

(D) T

FHATH qH] AW 7=

(A) whdes ST IcAfed sholedl T

(B) ST o T ST sheted] a&]

(C) *hdes Wiedal &
(D) des IUGTE T

o= HHiad ATIEE!, Wi

RO G e e ?

(A) AR el

(B) UTI, IDBI, IFCI 9R&AT 9=
Eal

(C) TS ARihe ST YT I3l

(D) b Ta¥ SeRTHEA Seleledl odl
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60.

61.

62.

What distinguishes a bank from a

non-bank financial institution ?

(A) Accepting time deposits as a
courtesy

(B) Accepting demand deposits

(C) Lending

(D) Accepting loans and borrowings

are financial

intermediaries that pool the
resources of many small investors by
selling them shares and using the
proceeds to buy securities.

(A) Derivatives

(B) Insurance

(C) Mutual funds

(D) Provident funds

Which of the statements gives an

accurate picture of the effect of the

increase in the repo rate ?

(A) The money supply in the
country will decrease

(B) The money supply in the
country will increase

(C) The money supply in the
country will increase initially
and then decrease

(D) There is no effect on the money

supply in the country

60.

61.

62.
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FMeSTU HE AR ?
(A) U9 RUH deA S8l W
(B) AUt et TRl
(C) s U
(D) st O FS WRRl

............... ¥ foreh ATy BT & 3k
e TAeheE TIeTd oA et
et =Rdl oAt fHesreren
THUET I e =l G9EH Th
L.

(A) =Redm

(B) ferm

(C) == ®e

(D) wfosy frafe feh

IO fae™ 91 ST e giemHE
s/ fost <0 2

(A) WA Y9I qEeer HHl B

(B) IS Ue=n qRESl AR

(C) TS = QL] GEaTdiel aed
afor F wE eRd

(D) YA = LESaE SHIvTTE]

iy B AR
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63. Capital market deals in lending and | 63. wr=del AL =" =1 sl <u S0
borrowing of ................. &S U SHERR hidl
(A) Short term credit (A) wife =0 wmfee
(B) Medium term credit (B) HeIH A shise
(C) Long term credit (C) Trehrei wiee
(D) Both medium term credit and (D) weaH ﬂﬁ?ﬁ% ige AT SefeTel
long-term credit Hiee Tl
64. Which of the following services, is | 64. WIcIcIUeh! IV & VST TR Raq
not provided by the capital market ? Ty ?
A) Provision of Underwritin . & .
v facilities ) ) TS
(B) Participation in equity market (B) FfFadl HRheHed e
(C) Expert advice on management (C) WW@%W
of investment in industrial STEETE 99 Soel S
securities
(D) Capital tax calculation and (D) | WIS 35T O ST e ST
consultancy based on that Heeedl
65. First step in the field of mutual fund | 65. THA He SANA SIS Tlee! TTSHal
industry happened with the setup of ORE TR 377107 figreg s =
................. by Government of India T oo
and the Reserve Bank. (A) TEEEE
(A) LIC
(B) GIC (B) S
(C) UTI (C) g
(D) IDBI D) HEe
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Which of the following is not
included in the supply of money

measure ?
(A) Inter-bank deposits

(B) Demand deposits with financial
institutions on a net basis

(C) Currency and coins are
available to the general
population

(D) Deposits with the Reserve Bank
of India (RBI) in addition to the
above

Covered interest parity theorem

takes coveeeiiean. into account.

(A) Spot and forward rates plus

interest rates in two countries

(B) Spot and forward rates plus call

money rate

(C) Forward rate and call money

rate

(D) Spot rate and interest rates in

two countries

66.

67.
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U9=AT QLASATT T TTehl I vTcH]

TSI THES ARl ?
(A) R-d% 4

(B) 7o semrer faxig Twerene Amoi
G2

(C) I Ao 19 TS HTH=THTIS!
IR 3R

(D) T Afaied aRdd e s®
(RBI) 98 <&t

(A) Te 7fn weae X fiem g9
QIMHETE ST

(B) @fe 3o witerg & ferary Aot
LRI

(C) waE T amfoy wr <7 Ty

(D) i g 3nfor §F SYMHE S =eiel
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68. (i) India adopted LERMS in 1992. 68. () 1992 Wed wa® LERMS =1
(1) In 1993, dual exchange rate .
SAqAd whedl.
system was replaced by a
unified floating exchange rate (i) 1993 & 9RAE el fafma <
in India. n & -
UM SIS Wehlehd qXANATHT €T
Identify the correct statements :
JuTett qAfE et et
(A) Statement (i) is correct, (i) is
incorrect I fagm sfes@n
(B) Statement (i) is incorrect, (i7) is
(A) fa9[ () 94, (i) @ TR
correct
(C) Statements (i) and (ii) both are (B) faum (i) e sufon (i) I =R
correct
(C) faem™ () & (i) <81 JFA 3Aed
(D) Statements (i) and (ii) both are
incorrect D) fa&am™ (@) 2007 (i) Tl ST 2T
69. Devaluation of the domestic 69. amiq:iq ‘TJQ"l"Il‘;I T AR F E:;{
currency will help to eliminate the FOIE Hed Hel, S g e
trade deficit, if goods are ............. in N
Ael=] HAHdled.
nature.
(A) Less elastic (A) FHi
(B) More elastic (B) Afyss waraeh
(C) Completely inelastic ©) Tﬁ-q-lﬁ R REIRED
(D) Less inelastic (D) & sreafas
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70. British Bankers Association comes
up with the benchmark rates for all
different securities of different
maturities. It is commonly known

AS i .

(A) Mumbai Interbank offered rate

(B) London Interbank offered rate

(C) Securities Exchange offered

rate

(D) Covered Interest offered rate

71. Which of the following is not

included in the current account of

the Balance of Payment ?

(A) Insurance Payment

(B) Govt. not elsewhere considered
(C) Transfers

(D) Bank’s overseas deposits

72. Different prices of any homogenous

commodity in two different markets,

leads to ........c.........
(A) Speculation
(B) Hedging

(C) Arbitrage

(D) Dumping

GET IT ON
Google Play

APR - 11224/T1—A

70. ToRrer Sy STITHUSH STerTeE Hedten

71.

72.

Te 9= T=AEd! i gUEe 3.

(A) o TEEH IFE T

(B) &= SZlEeh 3L X

(C) TE TaH=S AR X

(D) &we =N A X

[a N N NI . S
d1ledHen] enlYid qden % eqdglrdic=«l

ATe] W JHifas g ARl ?

A) famr <==

pal

(B) TR a0 o= Sdee e

(C) BET
(D) M= e St

~_ N NN = n
a:f qilAiec]] dlv[tYodlel ohlVcHls]

UhTHH S SeTe faRmdt
L.

(A) T/ eeFHD

(B) B4 =R Igu/efSm

(C) wER

~__n

(D) Hearaurdr foeh
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73.

74.

e

(1) Offer curve incorporates
elements of both demand and
supply.

(z1) The offer curve of a nation can
be derived from the nation’s
production  frontier, its
indifference map and various
hypothetical relative commodity
prices at which trade could take
place.

(A) Both the statements are true

(B) (@) is true (ii) is false

(C) (@) is false and (ii) is true

(D) Both the statements are false

Match the following :

(@) Inter-industry trade

(b) Intra-industry trade

(¢) Product life cycle

(d) Factor price equalization

(?) Vernon

(i1) Samuelson

(zi1) Acquired comparative advantage

(tv) Different factor endowment
(@ ®) @© @

(A Gv) @) @@ @)

B & @) G @)

(©C) Gu) G @ (o)

D) @ Gv) @ G

73.

74.

GET IT ON
Google Play

APR - 11224/TT—A

(i) AT Sk HETON S0 qLara A1 Sgl
TEHTEl THEIT HLl.
(i) TEETT SIM= AT Th (S5 hotell

%) SUMAT 3eqed |, A=
_TETAaT A eArfur fafaw
FHIH T WU TR [hAd e
fiesd e SR 8% ehdl.

(A) Tl faum si=t 2TRd

(B)

(i) S (i) Ik 38

(i) =Ieh S (i) S AR
(D) 3re faum gt oTed
Sirea &

(@) S-S IR

(&)

(b) SR SATA

() = SHerdsh

(d) ==& ThAd FHEMEEH

(@) =&

@) T

(iii) THoserclen qecAeh e
(v) T ==& Sorlt

(@ b)) © @
A) Gv) G @ @)
B) @ G Gv) @)
© @) @ @ ()
M) @) Gv) @ G0
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75.

76.

77.

International Economic Theory

examines :

(A) The reasons for and the effects
of trade policy and trade
restrictions

(B) The basis for and the gains from

trade

()
D)

Only (B)
Both (A) and (B)

In Autarky, a nation’s production

possibility frontier is also its :
(A) Opportunity cost

(B) Exchange option/frontier
(C) Consumption frontier

(D) Revenue frontier

Converting your local financial
assets into foreign financial assets
and vice-versa at the market

determined exchange rate is .........

(A) Reserve Account

(B) American Depository Receipts
(ADRs)

(C) Capital Account Convertibility

(D) Current Account Convertibility

75.

76.

77.

GET IT ON
Google Play

APR - 11224/T1—A
AW Y faga § auddi—

(A) =R €Ro 3nfor MR fHefer=t
I o qftomm

(B) U= 3R 37T %1
(C) w1 (B)

D) (A) 9 (B) Tt

o5 TSI YA SeRATE Y]

(A) @t fenwa
(B) fafr= s
(C) U4 HrH
(D) wede Hre
A M) | ol | R i i ot | o

faesft onfeer Arem™a Ao wsae,
g fauifa faftwa g9 =,

(A) TEE @

~

(B) 30fihT &

¥ [

EIEEX

RIER2]

(C) wreed @a i

(D) =Te] @ aiEEa
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78.

79.

e

Which of the following are the
limitations of head count index of
measurement of poverty ?

(z) It doesn’t take into account the
intensity of poverty

(i) It doesn’t indicate how poor the
poor are

(ziz) It doesn’t estimate poverty by
individuals but by households

(A)
(B)
(®)
(D)

Only (i)

Both (i7) and (ii7)

Only (v)

(@), (1) and (7i7)

If the production function exhibits
decreasing returns to scale in the

steady state, an increase in the rate

of population would lead to :

(A) Growth in total output and

growth in output per worker

(B) Growth in total output but no

growth in output per worker

(C) Growth in total output but a

decrease in output per worker

(D) No growth in total output or in

output per worker

78.

79.

GET IT ON
Google Play

APR - 11224/11—A
qEiadst wivrdt fagme ferrordt
= wale] geade 2
(@) e SIREETE o geied el

o n o o

[ehdl Il o4l

A REEICRINERSIED

OeHTg &id T8l
(i) 7 T SRIaT Hed 7 T
U SIRGA= HISMHY .

(A) weR ()

(B) I (i) 3107 (3ii)

(C) ®H (iv)

D) @), (@) 3 (@)

S 3G e Hed A S¥ad ST

T drheedda ae Jera  qieerd

IECE

THU IAEA T TIERE AfHeh
AR a3

eIl | G M I E G R U

(A)

(B)

AfHF IARAA el ST

(C) THY IORAGA 9€ Wy <Leh

ATHF IARAA =

THU Ieured S SER AfHen
SEATdel alerE] 319

D)
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80. Which of the following options is
correct when we only accomplish two
out of three pillars of sustainable

development ?

(A)

Economic + Environmental

Sustainability = Viable

(B) Social + Environmental

Bearable

Sustainability
©)

Social + Economic

Sustainability = Equitable

(D) Political + Economic

Sustainability = Workable

81. Which of the following theories are
associated with the dependency
theory ?

@ of

Development under-

development
@i0)

((27)
(iv)
(A)

World-systems theory
Critical minimum effort
Theory of unequal exchange
Only (i) and (ii7)

(B)
©)

Only (@), (i) and (ii7)
Only (@), (i7) and (iv)

(D) Only (i), (it) and (iv)

80.

81.

GET IT ON
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qHTUh! wheles T IMYad TashrmEl &3

e HEATIR JEIcTush! v FehT

fifterdt faio €5a ?
(A) 3Tk + TR YvEad = Saerd

(B) 9IS + TeR0 IYedd = g1

(C) TSI + 3Tfeer TMgeraar = TAM

(D) TSI + TR Yl = HL

qEieTieh! ot FHGTA sTaretfer faagrarett
ety amed 7
@)

~ ~ o~

Sfaenfadqa=n f

ch Y

(1) SMdeh-ozaee fagm
(i) o feam gae

o e

(v) A9EE Tai

e fHeT
(A) F (@) A0 (@)

(B) & (1), (1) 30 (i)
(C) weR (i), (i1) 3V (i)

(D) we (i0), (iii) A0 (v)
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82. The output elasticity of labour is :

83.

(A) equal to one at the level of
output where average product

is at a maximum

(B) the percentage change in labour
required to produce one more

unit of output

(C) equal to the ratio of total
product to the quantity of

labour employed

(D) a measure of the percentage
change in output that can result
when the quantity of labour is
changing

If the investment rate of an economy
is 24%, capital-output ratio is 4 and
the growth rate of population is 1.5%,
what would be the growth rate of

per capita income ?
(A) 4.5%
(B) 5.5%
(C) 6.5%

(D) 3.5%

82.

83.

GET IT ON
Google Play
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T IR AAaeehdl :

(A) HUF IURA HEWH AGAHl Th
Toel 3Td

(B) 3TUEA 9@ HLTATES! STHG hd]

AN Tehel 98

(C) & wafashdl THI IcqRA M
FHRTE TSR A= TUiae
A

(D) IERATATA TIHeT dgd  2A1fuT

gfgeri=a1 USRI sed 1=

Ll

S AdFTEEET TAAE X 24% IR,
TEIT-IAEH TUITR 4 TR o1fv

RISl 1.5% 9T, T TS
3= Jgiel fordt @@ ?

(A) 4.5%

(B) 5.5%

(C) 6.5%

D) 3.5%
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84.

85.

e

According to Adam Smith, there is

a mutual dependence between

(A)

division of labour and the

extent/size of the market

(B) invisible hand and business
cycles
(C) capital accumulation and

general price level

(D) division of labour and industrial

integration
What is Palma ratio ?

(A) Share of richest 1% population
in GNI/Share of poorest 99%
population in GNI

(B) Share of richest 10% population
in GNI/Share of poorest 10%

population in GNI

(C) Share of richest 1% population
in GNI/Share of poorest 10%

population in GNI

(D) Share of richest 10% population
in GNI/Share of poorest 40%

population in GNI

84.

85.

GET IT ON
Google Play

APR - 11224/T1—A

mmaw_qa’ ...................
TR s 379
(A) gHfaaST 2N IS ATRRHA

(B) 31G¥F T AU MR =h

(C) YreeeT To-eRTo 31 9= feprd

et

D) gafaarsa sufor Ai=ifires

TeRITcHS [h LT

e IR U T 2

(A) e T Sca=a Afasiaa 1%
AFHEIET A1/ E[A UL
e AT 99% SAhEEad
e

T TR SR STrasioa 10%
AFHLIFT FTI/TA UL
SeqTe STFATa 10% e
e

(C) ¥el U Sca=riel AfdsfiAd 1%
AIHEEIET L/ E[A UL
g STFaia 10% e
e

T T SeqTiret stfasiea 10%
AHFEBIAT AT/ TYA UL
IR ATTRIS 40% ThEE]
e

(B)

D)
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86.

87.

247

In case of Schumpeter’s model of
economic growth, which of the

following statements is true ?

(A) The capitalist economy
ultimately reaches stationary

state

(B) The profit rate tends to become
equal to zero at the end of the
development process

(C) Cyclical swings are the cost of
economic development under
capitalism

(D) The process of economic
development is not a cyclical
process but is a structural
process

According to Harrod, a technical

change is neutral if ................. !

(A) MPy/MP; = capital-labour
ratio

(B) at a constant rate of profit,
capital-output ratio also

remains constant
(C) it is labour or capital saving
(D) MPg/MP; = wage rate-interest

rate ratio

86.

87.

GET IT ON
Google Play
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(A) vieaeRel Aefeesen Hfqwa:
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(C) T T3-SR B YSaaeNeiaeis

Aferer faerm@rn der 3R

(D) aféek Toermar=l wishen =en T

(A) WieTdr HHE I/ 1= T
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88. Which of the following banks were
merged with Bank of Baroda in
20197
(2) Union Bank of India

(@1) Dena Bank

(7i1) Indian Bank

(fv) Vijaya Bank

(A) (@) and (@i7)

(B) @) and (it7)

(C) @) and (iv)

(D) (@) and (i)

89. Kisan Credit Card Scheme was

introduced by :

(A) NABARD

(B) Reserve Bank of India
(C) Co-operative Banks

(D) Regional Rural Banks

88.

89.

GET IT ON
Google Play

APR - 11224/T1—A

2019 T WATeTUsh] Il Sl sk

31 SR Ao sivamr e 2
() FFET s it sfea

@) ST o

(i) 3feem e

Gv) fosman &%

(A) @) & (@)
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(C) (i) =M (iv)
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90. Which Article in the Constitution of | 90. YR JSATAIA FHIV FHerd Mo
India deals with the Annual aeen Toeromelt wefuq e ?
Financial Statement ?

(A) He™ 111
(A) Article 111

(B) e 112
(B) Article 112

(C) whaH 113
(C) Article 113
(D) Article 114 D) 114

91. Which of the following are the main | 91. AT IV WA ol Tor
objectives of Agriculture Census in e 3fee 3T ?

India ? .
() FE ST TEA S ST A
(1) To describe the structure and
characteristics of agriculture i
sector (i) TG TE S Hifedl 9eH
(z1) To provide benchmark data e
(ii) ShTATCHR HRUTETE TR Aehe
upto village level
EHERETU
(zit) To provide statistical frame of
operational holding (A) () S (i) v
(A) (@) and (ii) onl
’ ®B) () st Giid) e
(B) (i) and (zii) only
.. (C) (i) 3w (ii7) Fed
(C) (1) and (iz7) only
D) @), (i) and (iii) D) (), @) & (i)
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92. What is the main objective of | 99 Ww_gamﬁsﬁa:{ ST A=
Ayushman Bharat-Pradhan Mantri Ter R FE AR ?

Jan Arogya Yojana ?
(A) Ta Tt STRfea e e

(A) To provide financial protection

. ARTAERIA TrETEIe! e Jam
to poor and vulnerable families

for their health expenditure
(B) To promote the growth of the (B) ARG Ta1 IR derd =Terl
healthcare industry 20y

(C) To provide subsidies to private

(C) TISFt FUMerd @l STEM <01
hospitals

(D) TR Toas AR =Heree i

(D) To create a separate healthcare

0]

system for the poor

93. ANANA Uiedl ‘U TAAER S0

93. India’s first ‘National Investment

and Manufacturing Zone’ is situated T:R?jﬁ'ﬁf‘ﬂT GEN ':lé’\mt\""’?' O[] AT
n : A ?

(A) Andhra Pradesh (A) #YIRY

(B) Gujarat (B) TR

(C) Maharashtra (C) TRRT=

(D) Uttar Pradesh (D) SERYSY
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94.

95.

96.

e

Square root rule is ................. .

\/?

@A) C

@ C- Y
r

e-NAM scheme was started in which

of the following year ?
(A) 2014
(B) 2015
(C) 2016
(D) 2017

India’s Economic Freedom Index

score in the year 2023 was .......
(A) 61.2

(B) 52.9

(C) 51

(D) 53.3

95.

96.

GET IT ON
Google Play
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................... mwmaﬂ%
20Y
C=
(A) N
20Y
C=2"=
® C="7
€ C= %

o C- 2
r

e-NAM =i EicAteiiesl hIoedr ool
13,'5311?“?[?

(A) 2014
(B) 2015
(C) 2016
(D) 2017

g8 2023 "L XAl S I

--------------

(A) 61.2
(B) 52.9
(C) 51

D) 53.3
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97. Which of the following statements

98.

is false ?

(A)

(B)

()

D)

MGNREGS is implemented

through an Act

MGNREGS provides some

reservation to women

The wage rate of Rs. 100 per

day is provided through

MGNREGS

MGNREGS does not provide
wage employment where
unskilled manual work is

involved

Which of the following is the correct

formula to calculate National Multi-

Dimensional Poverty Index in

India ?

(A) MPI = H*I
(B) MPI = H*A
(C) MPI = H*P
(D) MPI = P*A

GET IT ON
Google Play

APR - 11224/T1—A

97. WUl U T b e ?

98.

(A)

MGNREG TS & HEaUER

BECKIASIN

(B)

MGNREG 351 & Afgetiand! el

n NN
SIHIT <lelld oqd

()

MGNREG #i9HgR gdt feaw

. 100 o9 < Toom <

(D)

MGNREG Fi94T

AR I

b N

3N o oY
SIHRdAIA] enlHINIC

SN B RIIES

T AT

WeiieTish! ShivT g Sise faeTes
AU A g5 SR ?

(A) MPI

(B) MPI

(C) MPI

(D) MPI

H*I

H*A

H*P

P*A
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99. India’s market capitalisation in the

year 2023 was

(A) Half the GDP of India
(B) 10th largest in the world
(C) Nearby GDP of India

(D) 1/4th of the GDP of India

100. Which of the following statements

is true ?

(A) India had the largest road
network in the world in the year

2022

(B) India had the second largest
road network in the world in the

year 2022

(C) India had the largest railway

network in the world in the year

2022

(D) India had the second largest
railway network in the world in

the year 2022

GET IT ON
Google Play

APR - 11224/T1—A
99. IS 2023 T WNAN NN WEod

....................

(B) S 109 Hafq Ais

(C) MRAr=AT @ SN IearaTrea
EEE)

(D) W= T QU SCAGAT Teh
EGRIE

100. EATAteh] HIvd 96 sl 38 ?

(A) =9 2022 T YATH T T STes

S Felld HiS B

(B) =t 2022 HEH YRATHES TEAT STes

ST GER Hdid HiS B

-

[53)

(C) = 2022 & YRAHE Teod S

S T WS B

-

[53)

(D) o 2022 H&A UHAHE oo S

ST §ER Haid HiS B
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ROUGH WORK
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